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Follow the procedure to compute the given data:

i. Call your last 3 digits of your roll No. (if your roll No. is 08CE228, then take X=228) as X.  
ii. L1= (10*X) + 7000 m ;  L2= (10X) m ; D1= (100 + X) mm. 

      f = (X/100000) + 0.0045
iii. L3= X + 500 m ;                   L4=  X + 300 m;           L5=  X + 400 m ;  

      D3=  (X/2) + 500 mm.;         D3= (X/2) + 300 mm;  D3= (X/2) + 400 mm.

      f = (X/100000) + 0.0045
1. A syphon of diameter D1 mm connects two reservoirs whose water surface level differ by 40m. The total length of the pipe L1 m. The pipe crosses a ridge. The summit of the ridge is 8m above the level of water in the upper reservoir. Determine the minimum depth of the pipe below the summit of the ridge, if the absolute pressure head at the summit of syphon is not to fall below 3.0m of water. Take f as given  above and atmospheric pressure head as 10.3 m of water. The length of syphon from the upper reservoir to the summit is L2 m. Sketch the pipeline system in detail and the Find the discharge also. 
2. Three pipes of D3 mm, D4 mm and D5 mm diameters have lengths of L3 m, L4 m and L5 m respectively. They are connected in series to make a compound pipe. The ends of this compound pipe are connected with two tanks whose difference of water levels is 16m. if co-efficient of friction for these pipes is same and equal to f as given above, determine the discharge through the compound pipe neglecting minor losses. Also find the discharge including appropriate minor losses.
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